Avoxprtd Moadnuortixd
Modnuorinr) Enarywy
Epyoota 1n

1. No anodetéete b1

(n+1
(i)1+2+3+...+n:w VneN
(n+1)-(2n+1
(i) 2422484 4n2 = 0F )6<"+ ) vneN
n?-(n+1)>2

(i) ¥4+22+33+ ... +n®= 1 VneN

2. Na arodeiete 6t

(1+2+34+...4n)*=13+2+... +n®> VneN

3. Na anodeifete ot

(i) a™ -a™-a®™ - ... -a"™ =g T2tt YV e N* ftova €R, a >0, 7; €R, i =1,2,3,...,v
(i) |z1 +x 42 +as+ ...+ x| <|og| + |2 + |23| + ...+ |2z, Vv eN, omovz; €R, i=1,2,3,...,v
(iii) tan(v-7m) =0 Vv eN

Atveton 6t
1. a® - a™ = g1+

2. ‘Z’l +£172‘ < ‘1131’ + ’1’2|

tand +t
ant+ tany VO,p€eRxuwtan0 =0, tanm =0

3 tan(0+¢) = T



